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1.  Translucent (a firm that has almost faded from view) Inc. has recently decided to issue a significant amount of new debt and use the proceeds to repurchase outstanding shares of common stock.

a.  How will this action affect the risk of Translucent’s assets and its weighted average cost of capital?  Explain.

b.  If Translucent uses the firm’s overall weighted average cost of capital for analyzing all capital budgeting projects, what will likely happen to the amount of money Translucent invests in new projects each year relative to the amount it would have invested without the debt issue and equity repurchase?  Explain.

c.  If you consider only the impact of this action on Translucent’s weighted average cost of capital, how will Translucent’s EVA change?  Explain.

2.  Auctions On-line Inc. (a joint venture between Sotheby’s and Christies) is considering building a new facility which will hold auctions in which individuals may bid either on-line or in person (by being at the new auction house).  Auctions On-line estimates that the return on the new facility (and on the S&P500) will depend on the state of the economy as follows:


Return on:

Economy
Probability
Project
S&P500
Robust
.10
35%
38%

Solid
.50
14%
18%

Recession
.40
-1%
-9%

a.  What is the beta of the new facility?

b.  Assume that the risk-free rate is 4.11% and that auctions will be held monthly (so that cash flows occur monthly).  What rate should Auctions On-line use to calculate the net present value of the new facility?

3.  Assume that Bush is able to cut corporate but not personal tax rates.  How would you expect this change to affect the amount of dividends paid by the typical firm?  Explain.

4.  
a.  How might the interests of managers and stockholders diverge in the capital budgeting process?  Explain.

b.  What can stockholders do to try to overcome this divergence of interests?

5.  Third Generation Wireless Inc. (a self-contained group within Ringly Bro’s, Barnum, and Bailey Inc.) is considering building a new network of circus acts in the US.  The cost today for starting construction of the network would be $100,000 and construction costs would continue through 5 years from today.  Each year’s construction costs would exceed the previous year’s cost by 14%.  Even though the network will not be completed for years, the network will begin to generate net cash flows beginning 3 years from today.  Net cash flows of $60,000 per year are expected to continue forever.  Third estimates that the required return on the project is 12.8%.  

a.  What is the net present value of this network?

b.  If required return used by Third is base on too high an estimate of the project’s risk, would the true net present value of the project be higher or lower than the one you just calculated?

6.  Assume you are interviewing with Fatwire Inc. for a job.  During your interview with the CFO, he hands you a copy of the firm’s most recent 10k and asks you tell him what you would look at in the statement to determine whether you would lend money to the firm.  He also asks what analysis you would do of the information included in the statement and what other information you would need to complete your analysis.  How do you respond?

7.  Assume that because a recession has lead to serious budget deficits, congress votes to decrease corporate tax rates but raise personal tax rates.  Assume also that Gadgets Unlimited Inc. has just spun-off its most risky division so that Gadget’s pre-tax profits and cash flows have just become much more stable than in the past.  How will these changes affect Gadget’s optimal capital structure?  Explain.
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8.  You are considering purchasing a five puts on Nuclear Power Inc. which expires four months from today and which have a strike price of $32.50.  The current stock price for Nuclear is $35 but you expect the price to fall to $25 by the time the put expires.  The standard deviation of returns on Nuclear Power over the past year equals 52% but you expect the standard deviation of returns to only equal 43% over the next 4 months.  After that, you expect the standard deviation of returns on Nuclear to fall even further to 39%.  The return on U.S. T-bills (all APRs assuming continuous compounding) depends on the maturity as follows:  1-month = 3.66%, 2-month = 3.70%, 3-month = 3.90%, 4-month = 3.85%, 5-month = 3.87%.  

a.  What is the most you would be willing to pay to buy the puts today?

b.  What cash flow will you experience at the expiration of the puts if the stock price does in fact fall like you expected?

Solutions:

1.
a.  A change in Translucent’s capital structure does not affect the risk of the firm’s assets

=> the firm’s weighted average cost of capital will not change

b.  If Translucent uses a same rate, the calculated NPVs of all projects will not change

=> the firm will undertake same projects as before the change in capital structure

=> however, debt service wil reduce surplus cash

=> if management had been overinvesting, amount spent on capital budgeting may fall.

c.  Calculated EVA will not be affected since the capital charge will not change.

2.  
a.  
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b.  r = 4.11 + (9.2 – 4.11)(.6676) = 7.508
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3.  Probably increase

=> excess cash probably increase

=> with lower tax rates, firms will generate more cash flow from operations

=> more positive NPV projects will exist with lower tax rates

=> but firms still have an incentive to avoid dividends due to tax loss to stockholders from dividend

=> repurchase shares so that stockholders taxed on gain rather than entire distribution

=> invest in negative NPV projects if loss less than tax loss on dividends

=> acquire other firms

=> purchase financial securities

=> amount of dividends paid by typical firm will probably rise
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4.  
a.  
1)  Managers will want to undertake projects that reduce the firm’s company specific risk and avoid projects that increase the firm’s company specific risk

=> managers are not well diversified

=> stockholders are indifferent to this risk since well diversified

2)  Managers will want to overexpand firm to maximize size of firm

=> increases manager’s pay, perks, power, prestige

b.  
1)  Can elect board that will protect their interests

=> may be difficult since management and management’s friends often on board, most stockholders give proxy to managers, management will fight this with stockholder money, stockholders usually less well organized than management

2)  Give management incentives to act in stockholder interests

=> stock options, stock, EVA bonuses

3)  Increase debt in capital structure

=> takes cash out of management’s hands so won’t use it to overexpand

=> allows management to own larger percentage of firm’s equity.

 5.  a.  Costs
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Inflows
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NPV = 368,402.93 – 616,185.61= -247,782.68

b. If too high an estimate of risk, use too high a discount rate

=> calculate too low a number for PV of costs

=> calculate too low a number for PV of inflows

=> since inflows are longer term, it is likely that NPV is too low

or => if risk is higher, should use a lower rate

=> the present value of costs should be higher

=> the present value of inflows should be higher

=> since inflows are longer term, it is likely that NPV will be higher

6.  I would look at the income statements and balance sheets.  

=> I would calculate the following sets of ratios:

Short-term solvency ratios like current ratio and quick ratio:  to make sure firm will can meet its short-term obligations

Financial leverage ratios like debt ratio and interest coverage ratio:  to assess likelihood of default

=> Additional information I would want:

Industry averages for the ratios I calculate.

Past 10-k for longer historical perspective
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7.  The overall net impact on the optimal capital structure for Gadgets is unclear.

Rationale:  

=> the decrease in corporate tax rates decreases the equilibrium amount of debt 

=> corporations save less taxers per dollar of interest paid.  

=> The increase in personal tax rates decreases the equilibrium amount of debt for Gadgets since the effective tax rate on interest received by bondholders will raise the rate demanded by bondholders on debt.  

=> Finally, the increased stability of Gadgets’ cash flows increases the equilibrium amount of debt for Gadgets for several reasons:  

1)  Gadgets is more likely to be able to use its corporate tax shield, 

2) the probability of bankruptcy has fallen so that the expected bankruptcy costs due to debt have fallen, 

3) there will be more confidence in the viability of the firm so that there is less potential for lost sales, loss of best employees, loss of supplier credit, and higher interest rates

4)  management will spend less time avoiding bankruptcy

5)  bondholders will be more likely to be paid so that they are less likely to demand:

a)  tough restrictive covenants

b) more monitoring

c)  convertible debt

8.  a.  
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b.  500(32.5-25) = 3750
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